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QUESTION 1

On which provider is IBM Cloud\\'s CDN service based? 

A. Cisco 

B. Amazon 

C. Akamai 

D. IBM Cloud itself 

Correct Answer: C 

 

QUESTION 2

What is required before creating and using toolchains that contain certain tool integrations? 

A. A Continuous Delivery service 

B. The Creator role permissions 

C. A Kubernetes cluster 

D. A container repository 

Correct Answer: A 

 

QUESTION 3

According to NIST, how is cloud computing defined? 

A. A model for enabling convenient, on-demand network access to a shared pool of compute resources 

B. On-demand non configurable computer resources that can be rapidly provisioned 

C. The capability to provide dedicated network access that can be provisioned in batch mode 

D. A model for delivering a dedicated pool of computing resources on premises 

Correct Answer: A 

 

QUESTION 4

Which IBM Db2 service provides full administrative access in IBM Cloud? 

A. Db2 Managed 

B. Db2 Hosted 
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C. Db2 Warehouse 

D. Db2 Service 

Correct Answer: B 

 

QUESTION 5

What are three support models supported by IBM Cloud? 

A. Silver, Advanced, Gold 

B. Silver, Gold, Premium 

C. Basic, Silver, Gold 

D. Basic, Advanced, Premium 

Correct Answer: D 

 

QUESTION 6

Where can workloads or applications for classic infrastructure be deployed in IBM Cloud? 

A. Dedicated server 

B. Both virtual servers and bare metal servers 

C. Virtual servers only 

D. Bare metal servers only 

Correct Answer: C 

 

QUESTION 7

On which open source project is OpenShift based? 

A. Red Hat Linux 

B. OKD 

C. Kubernetes 

D. Istio service mesh 

Correct Answer: A 

 

QUESTION 8

C1000-124 PDF Dumps | C1000-124 Exam Questions | C1000-124 Braindumps                                3 / 6

https://www.passapply.com/c1000-124.html
https://www.passapply.com/c1000-124.html
https://www.passapply.com/c1000-124.html


https://www.passapply.com/c1000-124.html
2024 Latest passapply C1000-124 PDF and VCE dumps Download

Which IBM Cloud service is used for an automated agent-based backup system? 

A. IBM Cloud Object Storage 

B. IBM Cloud Backup 

C. IBM Block Storage 

D. IBM File Storage 

Correct Answer: B 

 

QUESTION 9

Power Systems Virtual Servers on IBM Cloud supports which two operating systems? (Choose two.) 

A. Windows Server 

B. IBM 

C. VMware ESX 

D. z/OS 

E. AIX 

Correct Answer: BE 

 

QUESTION 10

Hyperledger fabric is the blockchain implementation used with which IBM Cloud service? 

A. Hyperledger Platform 

B. Distributed Ledger Platform 

C. Blockchain Platform 

D. Internet of Things Platform 

Correct Answer: C 

 

QUESTION 11

Which IBM Cloud compute option provides access to IBM Z technology without having to purchase, install, and maintain
unique hardware? 

A. Hyper Protect Virtual Server 

B. Bare Metal Server 
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C. VMware Server 

D. Mainframe Server 

Correct Answer: D 

 

QUESTION 12

What makes it possible to run multiple virtual machines on a bare metal server? 

A. Disk 

B. Cores 

C. Virtualization 

D. Memory 

Correct Answer: C 

 

QUESTION 13

According to NIST, what are the five essential characteristics of the cloud? 

A. On-demand self-service, broad network access, resource pooling, rapid elasticity, and measured service 

B. Networks, firewalls, storage, applications, and services 

C. Platform as a service, bring your own software license, ability to reply applications over the internet, software as a
service, and private network 

D. On-demand network access, dedicated pool of computing resources, direct attached storage, rapid provisioning, and
self service 

Correct Answer: A 

 

QUESTION 14

What is a type of Continuous Delivery pipelines and how are they specified on IBM Cloud? 

A. Tekton pipelines are specified in YAML; Classic pipelines are specified graphically 

B. Legacy pipelines are specified with XML; NextGen pipelines are specified in JSON 

C. Simple pipelines are specified with XML; Complex pipelines are specified in YAML 

D. Tekton pipelines are specified in XML; Codewind pipelines are specified in XMI 

Correct Answer: A 
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QUESTION 15

What is a benefit of Public Cloud? 

A. Offers the most significant economies of scale 

B. Offers control of internal IT resources 

C. Controls and automates deployments and updates 

D. Offers controlled access and greater security measures customized to specific organizational needs 

Correct Answer: A 

C1000-124 PDF Dumps C1000-124 Exam Questions C1000-124 Braindumps

Powered by TCPDF (www.tcpdf.org)

C1000-124 PDF Dumps | C1000-124 Exam Questions | C1000-124 Braindumps                                6 / 6

https://www.passapply.com/c1000-124.html
https://www.passapply.com/c1000-124.html
https://www.passapply.com/c1000-124.html
http://www.tcpdf.org
https://www.passapply.com/c1000-124.html
https://www.passapply.com/c1000-124.html
https://www.passapply.com/c1000-124.html

